Divisibility Rules
(RruTsTar & faw)




Divisibility by 0 & 1 :
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Divisibility by 2 & 5: 2¢5= 10
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Divisibility by 3 & 9:
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Divisibility by 11:
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Divisibility by some other numbers

(24, 88, 72 etc):
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Important divisibility cases:
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Combined divisibility by 7, 11 & 13:

/\'%\ TXIIX l

35187253435 |
"\ A4

35
1089 Tsq 735
_"[SCT
22 X S . 108 9
330 33, O
china &

| | 15



- 176




126. From the following numbers, find the numbers
which exactly divisible by 42.= 7% 6 .
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127. How many of the following numbers are
divisible by 156?
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128- If a nine-digit number 7698x138y is divisible by 72, then the value of
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1%1. If a nine-digit number 389x6378y is divisible

@2, then the value of \J6x + 7y will be:
9x2 gfe &t 3 Hr FEAT 38916378y, 72 ¥

fsnfaa &, a J6x + 7y &1 AT {91 :
a)6 b) V13

c) V46 j)/8
& I

AT B34 5o
N Jaiag :

Jai,

20
SSCCGL 11 Sep 2019 T-2



lyo. If the 9-digit number 5p42978n6, is

m;m what is the value of
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Q)(Q of all the possible value of n? Given that
p and n are natural numbers.
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